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8. Two trains, each 100 mlong, moving in opposite directions, cross each other in seconds. * ®

fone is moving twice as st the other, then the speed of the faster trains_
2
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9. Twotrains 140 m and 160 m long run at the speed of 60 ki and 40 kmihe respectivelyin *
‘opposite directions on paralel tracks. The time (in seconds) which they take to cross each
otheris_
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10. A train 110 metres long s running with 3 spesd of 60 kmph. In what time wil itpass aman  *
who s running 3t kmph i the direction opposite to thatin which the train s going?
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1. Atrain running atthe speed of 60 ki crosses  pole n 9 seconds. What s the fength of *
thetrain?
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2 Atrain 125 miong passes aman, running at 5 i in the same direction in which the train *

s going, 10 seconds. The speed of the train s ®
asumine 2
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3. Thelength of the bridge. which atrain 130 metres long and travellng at 45 ki can cross *
in30 secongs.is
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4. Two wains running in opposite directions cross 3 man standing on the patformin 27
‘seconds and 17 seconds respectively and they cross each ather in 23 seconds. The ratio of
theirspesdss
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5. Atrain passes astation platform in 3 seconds and a man standing on the platformin20  * =)
‘seconds If the speed of the train s 54 kmihr, what s the length of the placform?
T
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s0m 8
None of the sbove

6. A270 metres long rain running at the speed of 20 kmph crosses another trainrunningin *
‘opposite direction 3t the speed of 80 kmph n 9 seconds. What s thelength o the other rain?
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7. Agoods rain runs at the speed of 72 kmph and crosses 3 250 miong platfomin26  *
‘seconds. What s the length of the goods train?
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